(#X5—4)

|DEHIBHALSYH1. 5t 1hy)]
& iR OB HE | B B & % B E
Bm 1. 28
440 ¢ 114 501
EELTF (— %)
024 A 13,800 3,312
HmiEE L&Y o1. 5t
1.00| h 750 750
&it 1 h 4,563
Bfraay 1] h 4,563
|DzEEH Bt —FhL 10a241)
& MR OB HE | B4 B & %8 B
AVIY Lxas5—
5 @ 142 710
mis%a
20| % 142
WIRIEXE
05| A 16500 8,250
LTEF%E
1 13100 13,100
i 8aEX/\—FhILEF10. 0P
05| H 4000 2,000
HME
05| % 121
&t 10[ a 24,323
BTy 1| a 2432| Yy FDIREESET
|[T7L—rarmmEsET 1BSRIS Y 14aDfEREELT |
% OB HE | B4 B {ff & % B E
M2 5.00] L 114 570
THAESE 20.0] % 114
FEREXR 0.20] A 16,500 3,300
EmEER 0.70] A 13,100 9,170
AR (F 77 % —3t) 1.00| h 7,550 7,550
BB (A7 —) 1.00] h 1,250 1,250
VHEES (FAV) 5.00| {& 1,560 7,800
MRS (AR E —) 0.20| 1A 14,400 2,880
FEMEE 0.50] % 858
BSY(hHY) 33,492




